goood

7/8000

1. Lagrange 00O OO0
4 (o) oz
dt \ 9¢ dq

(Z 0 LagrangianD ¢ 000 0O0)00000 (9.2) 0 Lagrangian 00 0000000
00 (9.1)000000000oOag

2. 0000000000
(X, Y] = il?

gooo

3. Landau OO QO QOQOQO
0000000000000 ooooo Soooooooooooooooooooog
O0000O0SO2x20000000000000

4. SdHOOOOO 2000000
SIHOOOOLandauOODODODODOODOOODOOOD hw  0OOODO0DO0DOO0OOOOOODODOO
gl UL L O
SHOOOOOOO0O0O0O00000000 B-'0000000o0O00oooooooao
0AOOOOOO0O0O00O0OOOOOO0OO0O00000000D0D0D0D0DOODO0D00DOOO0Oo
O00000Zeeman 000000000 ODOODOOODOO



